STRAIGHT LEG

P/N |T1312MT Series

TITLE | STANDOFF BRACKET
/

3

N

TAPERED LEG

7
L/
X
S

@W

EXISTING 1-1/2" TO 5-1/2" J_‘,.

TOWER LEG. ]

QTY | ITEM PART NUMBER DESCRIPTION
1 1| T1312MT24 24" STANDOFF BRACKET
1 — | T1312MT36 36" _STANDOFF_BRACKET
1 — | T1312MT48 48" STANDOFF BRACKET
1 — [ T1312MT60 60" STANDOFF BRACKET
1 — | T1312M772 72" STANDOFF BRACKET
4 2 | K1000KT8—534 | HALF CLAMP—MEDIUM
4 3 | K2220KT12i THREADED ROD, 5/8” X 12"
16| 4 | H2002KT58GA3 | A325, 5/8" HEX NUT
16| 5 | H3012KT58GSAE| A325, 5/8" FLAT WASHER
16| 6 | H3002KTS8GSAE| A325, 5/8” LOCK WASHER
PURCHASED me,mm%m_ww 1 7 | K1011KT39 SMALL TO LARGE PIPE ADAPTOR
NOT INCLUDED IN THIS KIT |— |8 | K1000KT12 HALF CLAMP—LARGE
2 9 | K2220KT12i 5/8” X 12” THREADED ROD
4 10| H2002KT58G 5/8” HEX NUT
4 11| H3002KT58G 5/8” LOCK WASHER
@ 4 12| H3012KT586 5/8" FLAT WASHER
2 13| H1026KT134GA3 | A325, 1/2" x 1.75" BOLT

FOR LEG SIZE EXCEEDING
5—1/2" OD, WILL NEED TO

PURCHASE SEPERATELY:
NUTEMS 7—-13.

DRAWN DATE o:moﬂmw DATE
KAA _ 8/22/03] MUN 8/22/03
TTLE
/xv_/ﬂ 00D STANDOFF BRACKET
TELECOM
3431 Novis Point Acworth, GA 30101
(838) 439-0500 (770) 974-5100 fox | DN NO T1312MT Series _mm< wﬂm\ﬂ L




